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Zte sin cos tan
44 0.6947 0,7193 0,9657
45 0.7071 0.7071 1.0000
46 0.7193 0.6947 1.0355
@ 1.022 @ 6.947 ® 7.071

@ 9.567 ® 10.355



tan A —2
4. inA:cosA=5:4¢ — ~ o 7S 5
sin cos 5 2 o, tanA 12 o] Zt-& oot
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ohe I™ofA /BAC = 90°, BC L AH ©|1 /HAC = x &t & oj,
tan x 9»] %}:% :rLé]'oq ‘j/}
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6. tanA= F A o, sin A +cos A o] gH-& FSH? (T, 0° <A <90°)
17 7 5 19 8
vy P 9n 9n 93
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30° <A <90° 4 uf, (sinA + 5) — 4/(sin30° —sinA)2 ©]
“Fobd?

1
@ 2sinA @ 2 ©) isinA

@1 ® 0



10. th& 7189] AABC 94 BC = 20 cm, A
/B = 60° ©]1l AABC 9 4 ol|7}
60V3em? & o, AC ¢ Aol & 73}
ofet.
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